Multiplication d’'un Monome par un Trinome (C)
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Simplifiez chaque expression.

- Tn(8n* — 8n + 3)

=9’ (p° — p* — 8p?)

—65(—5s> — 257 — 35)

C=7cMTct =8¢ 4T

3K (4K + 2k% — 5k?)

—55(7s” — 7s* — 5s?)

5yt 5y + 4y — )

- 5K (3K° + 6k — 8K?)

— 4w (Tw* — 8w 4 Juw?)

- 9¢*(—c® + 5¢ +5)
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Multiplication d’'un Monome par un Trinome (C) Réponses
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Simplifiez chaque expression.

- Tn(8n* — 8n + 3)

— 5603 — 56n° + 21n

=99’ (p° — p* — 8p?)

= —9p® +9p" + 72p°

—65(—5s® — 257 — 35)
= 30s* + 125 + 1852

—7cM(7ct — 8¢ 4 7%
= —49¢8 + 56¢7 — 49¢°

- 3K(4K* + 2K — BK?)

= 12k% + 6k° — 15K*

—553(75" — 7s* — 5s?)
= —355% + 3557 + 255°

5yt (5y* 44y — 7)

= 25y% + 20y° — 35¢*

5k°(3k° + 6k — 8K?)
= 15k + 30kY — 408

—4w(Tw* — 8w 4 9w?) r
= —28w° + 32w* — 36w?

- 9¢*(—c* + 5e + 5)

— —9¢° + 456 + 4563
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